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[NOT Win EXE - .0 - ELF executable [ 32bit obj. Exe file - CPU : Intel 80: Rip
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| -> Compiler : GCC: (Ubuntu 4.8.2-19ubuntu1) 4.8.2 | 2>
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BECERR B 1jint _ cdecl main(int argec, const char **argv, const cha
.. . 24
_lmt_proc L1 . . L
sub_ 8048340 D 3 tlmg_t v3; // ebx
_time .p 4 pid t v4; [/ eax
___stack_chk_fail D 5| unsigned int v5; // ST18 4
_getpid .p 6| wunsigned int ve; // STIC 4
_puts .p 7 char \u"'?_, /f 5_2'::_;
___gmen_start__ .p 8| signed int i;
_srand .p 9| char s; /f |
___l1libc_start main -p 18 char v11;
_rand -p 11| char v12;
_start .t 12 char v13;
__xB6_get_pc_thunk_bx .t 13| char v14;
deregister_tm_clones .t 14| char v15;
register_tm_clones .t 15| char vig:
__do_global dtors_aux Lt 16 ar ”,71
frame_dummy .t o ﬂ;P \:Sf
main .t _S L“:P R
_ 1libe csu init Lt P
; e 19| char v20;
_ libe_csu finl .t 0 o ?
_term_proc .1 ff ““ip ﬁfq’
time ex | ar “ff’
stack chk fail ex ¥ ££| char vas,
> 23| char v24;
= 24| char v25
fT17/28 ‘ ’
o 25 char v26;
dh BRI o8 x 26| char v27;
REFEREWT:

int _ cdecl main(int argc, const char **argv, const char
{
time_t v3; // ebx
__pid_t v4; // eax
unsigned int v5; // ST18 4
unsigned int v6; // ST1C_ 4
char v7; // ST20_1
signed int i; // [esp+14h] [ebp-44h]
char s; // [esp+24h] [ebp-34h]
char v11; // [esp+25h] [ebp-33h]
char v12; // [esp+26h] [ebp-32h]
char v13; // [esp+27h] [ebp-31h]
char v14; // [esp+28h] [ebp-30h]
char v15; // [esp+29h] [ebp-2Fh]
char v16; // [esp+2Ah] [ebp-2Eh]
char v17; // [esp+2Bh] [ebp-2Dh]
char v18; // [esp+2Ch] [ebp-2Ch]
char v19; // ebp-2Bh]
char v20; // ebp-2Ah]
char v21; // ebp-29h]

[esp+2Dh] [
[ 11
[ 11
char v22; // [esp+30h] [ebp-28h]
[ 11
[ 11
[ ] [

esp+2Eh
esp+2Fh

char v23; // ebp-27h]
char v24; // ebp-26h]
char v25; //

esp+31h
esp+32h

esp+33h

ebp-25h]



char ; 1/
char ; 1/
char ; 1/
char ; 1/
char 5 1/ ebp-20h]
char ; // [esp+39h] [ebp-1Fh]
char v32; // [esp+3Ah] [ebp-1Eh]
char ; // [esp+3Bh] [ebp-1Dh]
char v34; // [esp+3Ch] [ebp-1Ch]
char v35; // [esp+3Dh] [ebp-1Bh]
char v36; // [esp+3Eh] [ebp-1Ah]
char v37; // [esp+3Fh] [ebp-19h]
char v38; // [esp+40h] [ebp-18h]
char v39; // [esp+41h] [ebp-17h]
char v40; // [esp+42h] [ebp-16h]
char v41l; // [esp+43h] [ebp-15h]
char v42; // [esp+44h] [ebp-14h]
char v43; // [esp+45h] [ebp-13h]
char v44; // [esp+46h] [ebp-12h]
char v45; // [esp+47h] [ebp-11h]
char v46; // [esp+48h] [ebp-16h]
char v47; // [esp+49h] [ebp-Fh]
char v48; // [esp+4Ah] [ebp-Eh]
char v49; // [esp+4Bh] [ebp-Dh]
unsigned int v50; // [esp+4Ch] [ebp-Ch]

esp+34h] [ebp-24h]
ebp-23h]
ebp-22h]

ebp-21h]

esp+35h
esp+36h
esp+37h
esp+38h
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v50 = _ readgsdword(0x14u);
s = 83;
v1l 69;
v12 67;
v13 67;
v1l4 795
v15 78;
v16

v17 87;
v18

v19

V20

v21

v22

v23

v24

v25
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v27

v28

v29

v30

v31l

v32
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v34

v35

v36

\EY)
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v39

v40
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BYY
67;
84;
70;
BEY
125;

time(0);
getpid();
srand(v3 + v4);

for (i =0; i<=99; ++i )
{
v5 rand() % Ox28u;
v6 = rand() % 0x28u;
v7 = *(&s + V5);
*(&s + Vv5) = *(&s + Vv6);
*(&s + V6) = V7;
}
puts(&s);
return 0;

HC++EARS .

VEFEFERMMs, vi1, vI2Fv47, V48,

u

include{iostream
include<string
sing namespace std;

Jint main()
{
I char arr[40] = { 83,609, 67, 67, 79, 78, 123, 87, 101, 108, 99, 111, 109, 101, 32, 116, 111, 32,
! E 116, 104, 101, 32, 83, 69, 67, 67, 79, 78, 32, 50, 48, 49, 52, 32, 67, 84, 70, 33, 125 };
. for(int i = 0;1i < p0;i++) {
E . cout arr[il;
E Leturn 0;
'r
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